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General instructions :

QT T
(i All questions are compulsory.

(vi)

gt uge i

Question Nos. 1 to % are Multiple Choice Type which carry 1 mark each.
go Tl | & 8 % Sesmenid W 8 [T Yed 1 T ] 37F 8

Question Nos. 9 to 15 are Very Short Answer Type which carry 1 mark
cach.

o AT O 15 T S o IIA T & e Uk S A ] 3

Question Nos. 16 to 23 arc Short Answer-1 Type which carry 2 marks each.

gv7 T 16 T 23 % oY IA0E-| U & A Wedsh A 2 37 ¢

Question Nos. 24 to 31 are Short Answer-Il Type which carry 3 marks
each.

v W 24 W 31 7% @Y ITA-11 9 & (R e 1 HH 3 3 3

.1estion Nos. 32 to 34 are Long Answer Type which carry 5 marks cach.

e T 32 A 34 Ta @1 ol veA & Feen e @1 O S 3 ¢
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{ Multiple Choice Type Questions |

( Fgfawedta g9 )

1. H,0 fice) is an example of

(a) Polar molecular solid {b) Hydrogen bonded molecular solid
Ac)  Tonic sold {d] Notie ol these.
H., O () v gqmmr @
) S ST Sl bl (b)  &usiof Hiarad svas 319 i
Yo st S d) THE L
g ‘Rate = K[Hzoz_] is an example of
J fa} zero order reaction Ab) lirst order reaction
[c) second order reaction {d)  nune of these.
2 = K[H,0, ] T 3= &
(al o = il e (b) T FZ afalea =
(c) [FET wie SfuiFar @ (d) 5 HE ey

Dry ether

3. CH3Br+2Na+ CH,Br

The reaction is

»CHS -~ CHy + 2NaBr

(a) Friedel-Crafts reaction (b) Wurtz reaction
#(c) Fittig reaction . [d)  none of these,
c =R 347
HSBr +2Na + CH3Br—~————-—_+ CHa - CH3 + 2NaBr
T &
(a) IEH-FRE afufra (b) T il
(d) & 3 =i e
(b) Al
(d}  Fe.
(b} Al
(d)  Fe &1
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Cly /B

‘A S
(a) Benzene
/¢l Chlorobenzene

() AT

(c) HRREA

6. Acctaldehyde + 4 |H| —

) i‘i ' iS
{a) Methanc
s (¢} Propanc

II-t-q.cf:“;'x':’b’ 3+ 4 [H] -

v % ¥ '%"'
(a) H=

(o7 Urease

(a: Gl

-
fed EHFE G
i !

o0

The product 1s
~ la) CH.COCI

(c) € H.Cl

A

(13} Benzuldehyde
(1) none of these.

(b)  ATEERS
(d) T

Zn-Hg/HCl _

(b} Ethane
{dy none of these.

Zn-Hg/HCH N

by wad

(dy T E i W

Ris) Invertasc

(] None of these.

= T TR gF REE I A I I - AT FRE SRl

b A

() FH W R

CH_..,COOH - SD'C]‘.3 — 3 Product

(b) CH,LCl

(d)  none of these,

CH.COOH + SOCL, —— 375

-

ETart 4

faj CH.,COCI

c; C,H.CI

~
]

()  CH,C)

(d) gﬂﬁﬂ%?ﬁp‘r[
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into glucose and fructose ?
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| .wwﬁﬂ W)
emaﬂ onder of ;';1 reaction which has the rate;
ce Rate = K [A]' [B]’
"W‘ﬁ?ﬁaﬁf&ﬁmaﬁf‘ﬂhﬂwaﬁm%
- & = K (Al [B]'
B -/10 ‘Beri-beri occurs due to the deficiency of which vitamin ?

g forerfis @ el § AT S 2

Write dlsperscd phase and dlSle‘SlOH medium of milk, a collmdal s

12. Write the monomer ﬁsed for getting the polymer, Glyptal. éS
Tges, ferael 1 I e & oy wg@ veeE fElEn |

13. Write [UPAC name of CH,CH,C{CH,)},CH,I.

tion. .
U1 olu _?,22*

CH,CH,C(CH,),CH I &l #iZexodlototle A fore |

14. Give an example of aldohexose.

. UCERBFAN & UF ISR 5 24
13. Give an example of food preservative.
@ TR T UH ST S | | 55
e
( Short Answer-I Type Questions ) 6.
( g IAI-T 09T )
\/16. Define conductance and give its unit.
T H I = 5o g 3

v/1/'7’. Giving examples, differentiate between roasting and calcination,
FERVIT 2 BT 99 U PRy o HAT AR |

\ﬁs Write any two fcatures that distinguis
chemisorption.
Wik st s Tt sl § lE 51 afer o

19_: What are the differcnt oxidation states e
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are the expected products of hydrolysis of Lactose ?
& I Ee § R Sl F o arden el § 2

‘Explain the difference between Buna-N and Buna-S.
SN S-S % By siew waER

- Write briefly with one example on the following :
- a) Analgesics b) Antiseptic.
o FE W S uw e &
3 a) R b) el
K]
B ( Short Answer-II Type Questions )
il ( &Y IHAG-11 WY )

‘}4 Explain ferromagnetic substance and anti-ferromagnetic substan

SRR ST T W grER e @ avi

25. Explain rate of chemical reaction.
.

THEiE sfatEar & A a5 ol ey

26. Explain the following terms :
a}  Dialysis
b)  Tyndall effect.
Pt wgt = e
La) e
w will you bring about the following transformations 2
Methyl alcohol to Methyl iodide

Ethyl bromide to Ethene
Benzyl bromide to Benzyl cyanide,

| UiER A 4 Fh )




e R g (SRERD) SAE (11D

ﬁ-;.-- ba g w1
o) e Rk (1) SRS,
4 29 What are oxidation potential and reduction potential ?
affagEoT fasye T euwae fayd w2
/30. Predict the product :
a) CH,.CH,.Br+KCN

ag.cthanol

W

b) (CH,),C-OC,H,—H—

) CH, COONaM_H—-

Cal, A
3oqTE SEY
a) CI—I3 .CH2 .Br + KCN

o

b} (CH,)},C-0OC,H, — >

NaOH

31. Complete the following reactions :
a) C+HNO,(conc.)—

b) Sn+PCl -

~AICL: { Anhvd |
¢) @+CH'3€001 s ( Anhydrous )

Mf@aafw%maﬁﬁwaﬁ

http://www.jharkhandboard.com




Science

g388(XT) X§ CHE(Comp.)-8
' { Long Answer Type Questions )
( &1 3TdE woT )
32. Vapour pressure of water at 293 K is 17:535 mm Hg. Calculate the vapour

pressure of water at 293 K when 25 g of glucose is dissolved in 450 g of
water.

293 K W ST &1 919 T 17-535 mm Hg & | Af% 25 g wo[ld & 450 g 70 H
HIET A 293 K W STer 1 ary g1 uRenfer s

OR / YAl
Draw the structures of the following 'compounds :
1l XOFz ii) H,PO,
iii} H3P03 iV] IFS
vl IF'?
ﬁ E ﬁ o . aﬁ . . : :
iy  XOF, i) H. PO,
iii) H,PO, iv} Iy
vl IF-

3. Give the principle involved in the manufacture of nitric acid by Ostwald
process. How does concentrated HNGO  react with i) C and i) 1,7

-~

HETET mm H q.:?’r?:w: WA w3
(i) C 4T (if) 1., % T8 FR A T &
OR / 30eran

How does white phosphorus rcact with (i) H__;_S(:vq, (i) sulphur, (1) M,
fivi Na and (v) HNO, ?

WA IR T ORI () HyS0,, ) T, () Mg, (v) Na w4 (v HNO, 9
Hfefem #2717 7

- Write short notes on the following :

a}  Aldol condensation
b} Sandmever reaction
¢} Stephen reaction.

_ etz w2 e foomoi e
s a)  WEr G
b)  Fgarr sfufan

AW arfufen

rro . " [ - .
AeT Teenn = eI | }INO,%

o Il

OR [/ d¥an
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Identify 'X','Y'and 'Z'in the following :

(OH

- Zn / Heal CHsCuC]
al Q >N’ 5 Y
Anhyd AICL,

H,0/H" K,Cry O, /HT
i >

v

c) + Ny ————> X

frfafag & € X', 'y @9 2 & war
OH

Zn/ 1 CH;COC]
a} =20 - >y
A ALCK,

H,O/HT  K,Cr,0n/H*
b] CHS . CH = CIIE ————— 'KI > |Y1

OH

c) + Ng —————3 ¥
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